9:12:11	2/6/2019
---------	----------

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1807 Assmt: 185505 Manager: LM

Ratification Date: Resolution #:

<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Norman A Mastbaum	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - R	esidential	32.63	95.00	\$3,099.85	02-28-23-43-0116
Marcey Mastbaum	PAUL IN RAMSEY COUNTY, MINNESOTA SUBJ TO SEWER ESMT				=	\$3,099.85	
856 Fairmount Ave	AND EX S 55 FT LOT 14 AND EX S 55	*** Owner and Taxp	ayer ***				
St Paul MN 55105-3340	FT FT THE W 1/2 OF LOT 13 BLK 14						
*856 FAIRMOUNT AVE			Total Asses			\$3,099.85	
*Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018				ar Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff Am	ount:		\$3,099.85	
John A Buche Trustee	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - R	esidential	32.63	150.00	\$4,894.50	02-28-23-43-0093
Helen L Buche Trustee	PAUL IN RAMSEY COUNTY,	initial of ordinay in	osidentida	52.05	=		02-20-23-43-0093
857 Fairmount Ave	MINNESOTA LOT 15 BLK 15	*** Owner and Taxp	aver ***			\$4,894.50	
St Paul MN 55105-3341		owner und Tuxp	uyer				
*857 FAIRMOUNT AVE			Total Asses	sment:		\$4,894.50	
*Ward: 2			This Payme	ent:		\$0.00	
*Pending as of: 12/31/2018			-	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	ount:		\$4,894.50	
71 0.11		Mill and Overlag, D	ani dan tial	22 (2	140.00	¢4.961.97	
Thomas S Hays	HALDEMAN'S ADDITION EX W 10 FT LOT 28 BLK 1	Mill and Overlay - R	esidential	32.63	149.00	\$4,861.87	02-28-23-34-0023
Mary E Porter 865 Fairmount Ave		**** 0 1 T	ale ale ale			\$4,861.87	
St Paul MN 55105-3118		*** Owner and Taxp	ayer ***				
*865 FAIRMOUNT AVE			Total Asses	sment:		\$4,861.87	
*Ward: 2			This Payme	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff Am	aunte		\$4,861.87	

Page 1

9:12:11 2/6/2019	Public Improvement Assessment Roll F	by Address (Fee to A Ratification Date:	smt) Proje Resolution		Assmt: 185505	Manager: LM	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Matthew Russell	HALDEMAN'S ADDITION EX W 10 FT	Mill and Overlay - H	Residential	32.63	148.00	\$4,829.24	02-28-23-34-0001
Jane B Russell 862 Goodrich Ave St Paul MN 55105-3124	LOT 1 BLK 1	*** Owner and Tax	payer ***			\$4,829.24	
*862 GOODRICH AVE			Total Asse	ssment:		\$4,829.24	
*Ward: 2			This Paym	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$4,829.24	
East Mall Associates	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - (Commercia	32.63	150.00	\$4,894.50	02-28-23-42-0125
857 Grand Ave	PAUL IN RAMSEY COUNTY, MINNESOTA LOTS 15 16 17 AND LOT					\$4,894.50	
St Paul MN 55105-3377 * 843 GRAND AVE	18 BLK 18	*** Owner and Tax	payer ***				
*Ward: 2			Total Asse	ssment:		\$4,894.50	
*Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$4,894.50	
Vc South Mall Llc	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - C	Commercia	32.63	0.00	\$0.00	02-28-23-42-0202
C/O Tax Admin	PAUL IN RAMSEY COUNTY, MINNESOTA VAC ST & ALLEY IN DOC	Mill and Overlay - H	Residential	32.63	150.00	\$4,894.50	
275 East Broad	NO 2205651 ACCRUING & FOL; LOTS					\$4,894.50	
Columbus OH 43215-3703 *850 GRAND AVE	12 THRU 14 BLK 17	*** Owner and Tax	payer ***				
*Ward: 2			Total Asse	ssment:		\$4,894.50	
*Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
			Current Y	ear Principal:		\$0.00	
			Current Y	ear Interest:		\$0.00	
			Payoff Ar	nount:		\$4,894.50	

9:12:11 2/6/2019	Public Improvement Assessment Roll F	• • •	Project: MO1807 lution #:	Assmt: 185505	5 Manager: LM	I
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Grand Place Llc	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Comme	rcia 32.63	0.00	\$0.00	02-28-23-31-0140
C/O Tax Admin	PAUL IN RAMSEY COUNTY, MINNESOTA LOTS 1 THRU LOT 6 BLK	Mill and Overlay - Resider	tial 32.63	174.00	\$5,677.62	
75 East Broad	23 JOSEPH P DYSARTS RE AND IN SD				\$5,677.62	
columbus OH 43215-3703	SUMMIT PARK ADD LOTS 3 THRU LOT 6 BLK 23	*** Owner and Taxpayer *	**			
860 GRAND AVE	LOT O BER 25				*	
Ward: 2			l Assessment:		\$5,677.62	
Pending as of: 12/31/2018			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest: off Amount:		\$0.00 \$5,677.62	
		Payo)11 Amount:		\$ 5, 077.02	
Robert Bloomer Jr SUMMIT PARK ADDITION TO ST 854 Lincoln Ave PAUL IN RAMSEY COUNTY, MINNESOTA LOT 14 BLK 16	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Resider	tial 32.63	150.00	\$4,894.50	02-28-23-42-0187
				=	\$4,894.50	02 20 20 12 0101
t Paul MN 55105-3349 854 LINCOLN AVE	MINNESOTA LOT 14 BEK 16	*** Owner and Taxpayer *	**		\$ 1,07 1.00	
Ward: 2		Tota	l Assessment:		\$4,894.50	
Pending as of: 12/31/2018		This	Payment:		\$0.00	
		Curr	ent Year Principal:		\$0.00	
		Curr	ent Year Interest:		\$0.00	
		Payo	off Amount:		\$4,894.50	
Daniel J Sullivan	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Resider	tial 32.63	150.00	\$4,894.50	02-28-23-42-0167
ecky L Erickson	PAUL IN RAMSEY COUNTY,		5 2 .00	=	\$4,894.50	02-20-23-42-0107
57 Lincoln Ave t Paul MN 55105-3350	MINNESOTA W 50 FT OF LOT 15 BLK 17	*** Owner and Taxpayer *	**		\$ 4 ,094.30	
857 LINCOLN AVE		Tota	l Assessment:		\$4,894.50	
Ward: 2		This	Payment:		\$0.00	
Pending as of: 12/31/2018			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Pavo	off Amount:		\$4,894.50	

9:12:11 2/6/2019	Public Improvement Assessment Roll I	by Address (Fee to Asmt) Pro Ratification Date: Resolut	-	Assmt: 185505	Manager: LM	P
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Judith H Miller	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Commercia		0.00	\$0.00	02-28-23-43-0175
854 Linwood Ave Unit 101	101	Mill and Overlay - Residential	32.63	18.37	\$599.41	
St Paul MN 55105-3357					\$599.41	
*854 LINWOOD AVE 101 *Ward: 2		*** Owner and Taxpayer ***				
Pending as of: 12/31/2018		Total As	ssessment:		\$599.41	
		This Pay			\$0.00	
		Current	Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff 2	Amount:		\$599.41	
Kevin Fenelon	EVERGREEN PLACE ST. PAUL,	Mill and Overlay - Residential	32.63	100.00	\$3,263.00	02-28-23-43-0153
859 Linwood Ave	RAMSEY COUNTY, MINNESOTA W 10		52.05	100.00		02-28-23-43-0155
St Paul MN 55105-3325	FT OF LOT 13 AND ALL OF LOTS 14 AND LOT 15 BLK 2	*** Owner and Taxpayer ***			\$3,263.00	
*859 LINWOOD AVE						
*Ward: 2		Total As	ssessment:		\$3,263.00	
*Pending as of: 12/31/2018		This Pay			\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff 4	Amount:		\$3,263.00	
Dennis J Thalhuber	KIDD'S REARRANGEMENT OF BLKS.	Mill and Overlay - Residential	32.63	103.00	\$3,360.89	02-28-23-34-0073
Mary P Thalhuber	5 & 6 HALDEMAN'S ADDITION TO			=	\$3,360.89	02-20-25-54-0075
362 Linwood Ave St Paul MN 55105-3202	THE CITY OF ST. PAUL LOT 1 BLK 4	*** Owner and Taxpayer ***			<i>\$3,300.67</i>	
*862 LINWOOD AVE		Total As	ssessment:		\$3,360.89	
*Ward: 2		This Pay	ment:		\$0.00	
*Pending as of: 12/31/2018		Current	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$3,360.89	

9:12:11 2/6/2019	Public Improvement Assessment Roll I R	by Address (Fee to A Ratification Date:	smt) Proje Resolution		Assmt: 185505	5 Manager: LM	Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	<u>Charge Amts</u>	Property ID
Joshua J Hamann	KIDD'S REARRANGEMENT OF BLKS.	Mill and Overlay - I	Residential	32.63	104.00	\$3,393.52	02-28-23-34-0072
863 Linwood Ave St Paul MN 55105-3203 * 863 LINWOOD AVE	5 & 6 HALDEMAN'S ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 1	*** Owner and Tax	payer ***		_	\$3,393.52	
*Ward: 2			Total Asse	ssment:		\$3,393.52	
*Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
			Current Ye	ear Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	iount:		\$3,393.52	
Mark P Staloch	NOBLE'S REARRANGEMENT OF LOTS	Mill and Overlay - I	Residential	32.63	85.00	\$2,773.55	02-28-23-43-0140
Heidi L Staloch	12, 13, & 14 BLOCK 13, SUMMIT PARK	5				\$2,773.55	02-20-25-45-0140
356 Osceola Av	ADDITION TO THE CITY OF ST. PAUL W 50 FT OF LOTS 1 AND LOT 2	*** Owner and Tax	payer ***			ψ2,115.55	
St Paul MN 55105-3328							
*856 OSCEOLA AVE			Total Asse	ssment:		\$2,773.55	
*Ward: 2			This Paym			\$0.00	
*Pending as of: 12/31/2018				ear Principal:		\$0.00	
			Current Ye			\$0.00	
			Payoff An	iount:		\$2,773.55	
Christina R Anderson	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - I	Residential	32.63	150.00	\$4,894.50	02-28-23-43-0118
Simon Taghioff	PAUL IN RAMSEY COUNTY,	-			=	\$4,894.50	
859 Osceola Ave St Paul MN 55105-3329	MINNESOTA LOT 15 BLK 14	*** Owner and Tax	payer ***				
859 OSCEOLA AVE			Total Asse	ssment:		\$4,894.50	
Ward: 2			This Paym	ent:		\$0.00	
*Pending as of: 12/31/2018			Current Ye	ear Principal:		\$0.00	
				ear Interest:		\$0.00	
			Payoff An	nount:		\$4,894.50	

9:12:11 2/6/2019	Public Improvement Assessment Roll I	•	Project: MO1807 lution #:	Assmt: 18550	5 Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
David A Preus	HALDEMAN'S ADDITION LOT 28 Mill and Over		tial 32.63	149.00	\$4,861.87	02-28-23-34-0044
Carmenza Duque Preus	BLK 4			-	\$4,861.87	
863 Osceola Ave St Paul MN 55105-3209		*** Owner and Taxpayer **	**			
*863 OSCEOLA AVE		Total	Assessment:		\$4,861.87	
*Ward: 2			Payment:		\$0.00	
*Pending as of: 12/31/2018			ent Year Principal:		\$0.00	
-			ent Year Interest:		\$0.00	
		Payo	ff Amount:		\$4,861.87	
Barbara Vellenga	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Comme	rcia 32.63	0.00	\$0.00	02-28-23-43-0177
855 St Clair Ave	NO 103	Mill and Overlay - Residen		18.37	\$599.41	02-20-25-45-0177
St Paul MN 55105-3277				=	\$599.41	
*855 ST CLAIR AVE 103 *Ward: 2		*** Owner and Taxpayer **	**			
*Pending as of: 12/31/2018		Total	Assessment:		\$599.41	
			Payment:		\$0.00	
			ent Year Principal:		\$0.00	
			ent Year Interest: ff Amount:		\$0.00 \$599.41	
		Tayu	an Amount.		\$ 377.41	
Steven E Frias	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Comme		0.00	\$0.00	02-28-23-43-0178
Lorraine Frias	NO 104	Mill and Overlay - Residen	tial 32.63	18.37	\$599.41	
855 St Clair Ave Unit 104		*** 0	<i>د</i> م		\$599.41	
St Paul MN 55105-3277 *855 ST CLAIR AVE 104		*** Owner and Taxpayer **	1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 -			
*Ward: 2		Total	Assessment:		\$599.41	
*Pending as of: 12/31/2018			Payment:		\$0.00	
2			ent Year Principal:		\$0.00	
			ent Year Interest:		\$0.00	
		Payo	off Amount:		\$599.41	

9:12:11 2/6/2019	Public Improvement Assessment Roll F	by Address (Fee to Asmt) Pro Ratification Date: Resoluti	-	Assmt: 18550	5 Manager: LM	Pa	
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID	
Frances E Baillon	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Commercia		0.00	\$0.00	02-28-23-43-0181	
855 St Clair Ave Unit 203	NO 203	Mill and Overlay - Residential	32.63	18.37	\$599.41		
St Paul MN 55105-3277		*** Owner and Taxpayer ***			\$599.41		
*855 ST CLAIR AVE 203 *Ward: 2		When and Taxpayer					
*Pending as of: 12/31/2018		Total As	sessment:		\$599.41		
		This Pay	ment:		\$0.00		
		Current	Year Principal:		\$0.00		
		Current	Year Interest:		\$0.00		
		Payoff A	mount:		\$599.41		
Cheryl A Ingstad	APARTMENT OWNERSHIP NO 6 UNIT	Mill and Overlay - Commercia	32.63	0.00	\$0.00	02-28-23-43-0182	
855 St Clair Ave Unit 204	NO 204	Mill and Overlay - Residential	32.63	18.37	\$599.41		
St Paul MN 55105-3277 *855 ST CLAIR AVE 204 *Ward: 2		*** Owner and Taxpayer ***		\$599.41			
*Pending as of: 12/31/2018		Total Assessment:			\$599.41		
e e e e e e e e e e e e e e e e e e e		This Pay	This Payment:		\$0.00		
		Current	Current Year Principal: Current Year Interest:				
		Payoff A	mount:		\$599.41		
Samuel J Varghese	KIDD'S REARRANGEMENT OF BLKS.	Mill and Overlay - Commercia	32.63	0.00	\$0.00	02-28-23-34-0093	
Jenna L Varghese	5 & 6 HALDEMAN'S ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT	Mill and Overlay - Residential	32.63	126.00	\$4,111.38		
865 St Clair Ave	29 AND ALL OF LOT 30 BLK 4			_	\$4,111.38		
St Paul MN 55105-3211 *865 ST CLAIR AVE		*** Owner and Taxpayer ***					
*Ward: 2			sessment:		\$4,111.38		
*Pending as of: 12/31/2018		This Pay			\$0.00		
			Year Principal:		\$0.00		
			Year Interest:		\$0.00		
		Payoff A	mount:		\$4,111.38		

	R	atification Date: Resolut	ion #:			
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Sherri L Mortensen Brown	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Commerci	a 32.63	171.00	\$5,579.73	02-28-23-42-0123
10 Victoria St S	PAUL IN RAMSEY COUNTY, MINNESOTA SUBJ TO ESMTS AND EX			_	\$5,579.73	
St Paul MN 55105-3036	S 80 FT AND EX E 5 FT LOT 14 BLK 18	*** Owner and Taxpayer ***				
*10 VICTORIA ST S *Ward: 2		T-4-1 A	ssessment:		¢5 570 72	
Pending as of: 12/31/2018		Total A This Pa			\$5,579.73 \$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
			Amount:		\$5,579.73	
Cheryl A Durant	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Residentia	32.63	60.00	\$1,957.80	02-28-23-31-0062
107 Victoria St S	PAUL IN RAMSEY COUNTY,	-		=	\$1,957.80	
St Paul MN 55105-3105	MINNESOTA N 60 FT OF LOT 28 BLK 24	*** Owner and Taxpayer ***			\$1,507.00	
*107 VICTORIA ST S						
*Ward: 2			ssessment:		\$1,957.80	
*Pending as of: 12/31/2018		This Pa	•		\$0.00	
			Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Рауоп	Amount:		\$1,957.80	
Michael J Brennan	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Residentia	32.63	150.00	\$4,894.50	02-28-23-42-0188
Kari Houtkooper Brennan	PAUL IN RAMSEY COUNTY,			=	\$4,894.50	02-20-25-42-0100
12 Victoria St S St Paul MN 55105-3106	MINNESOTA LOT 15 BLK 16	*** Owner and Taxpayer ***			\$ 1,05 1.00	
*112 VICTORIA ST S		Total A	ssessment:		\$4,894.50	
Ward: 2		This Pa			\$0.00	
Pending as of: 12/31/2018			Year Principal:		\$0.00	
		Current	Year Interest:		\$0.00	
		Payoff	Amount:		\$4,894.50	

	ŀ	Ratification Date: Resolut	on #:			
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	<u>Charge Amts</u>	<u>Property ID</u>
Benjamin Geleske	APARTMENT OWNERSHIP NO 37 THE VICTORIA CONDOMINIUM UNIT NO	Mill and Overlay - Residential	32.63	18.75	\$611.81	02-28-23-43-0090
126 Victoria St S Unit 2n	2-N				\$611.81	
Roseville MN 55105-3173		*** Owner and Taxpayer ***				
*126 VICTORIA ST S 2N Ward: 2		Total A	sessment:		\$461.81	
*Pending as of: 12/31/2018		Total As This Pa			\$401.81	
1 chung as 01. 12/3/12018		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Payoff	Amount:		\$461.81	
						ESCROW
Mary C Ryan 126 Victoria St S	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Residential	32.63	18.75	\$611.81	02-28-23-43-0091
	VICTORIA CONDOMINIUM UNIT NO 3-N			—	\$611.81	
St Paul MN 55105-3173	510	*** Owner and Taxpayer ***				
*126 VICTORIA ST S 3N						
*Ward: 2			sessment:		\$611.81	
*Pending as of: 12/31/2018		This Pa			\$0.00	
			Year Principal: Year Interest:		\$0.00 \$0.00	
			Amount:		\$0.00 \$611.81	
		r ayon 2	Amount.		5011.01	
Nadya R Nedelsky	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Residential	32.63	18.75	\$611.81	02-28-23-43-0085
Martin W Schmutterer	VICTORIA CONDOMINIUM UNIT NO 1-S	-		=	\$611.81	
134 Victoria St 1 St Paul MN 55105-3172	1-5	*** Owner and Taxpayer ***				
*134 VICTORIA ST S 1-S		Total A	sessment:		\$611.81	
*Ward: 2		This Pa			\$0.00	
Pending as of: 12/31/2018		-	Year Principal:		\$0.00	
			Year Interest:		\$0.00	
		Pavoff	Amount:		\$611.81	

9:12:11 2/6/2019	Public Improvement Assessment Roll I	•	it) Projec Resolution #		Assmt: 185505	Manager: LM	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Lorie Gibson	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	idential	32.63	18.75	\$611.81	02-28-23-43-0086
Robert Gibson 134 Victoria St S Unit 2-S St Paul MN 55105-3182	VICTORIA CONDOMINIUM UNIT NO 2-S	*** Owner and Taxpay	ver ***		_	\$611.81	
*134 VICTORIA ST S 2-S]	Fotal Assess	sment:		\$611.81	
*Ward: 2]	This Paymer	nt:		\$0.00	
*Pending as of: 12/31/2018		(Current Yea	r Principal:		\$0.00	
		(Current Yea	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$611.81	
Susan Buzenberg	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	idential	32.63	18.75	\$611.81	02-28-23-43-0087
134 Victoria St S #3s	VICTORIA CONDOMINIUM UNIT NO	-			=	\$611.81	
St Paul MN 55105-3172	3-S	*** Owner and Taxpay	ver ***			\$011.01	
*134 VICTORIA ST S 3S							
*Ward: 2		7	Fotal Assess	sment:		\$500.00	
*Pending as of: 12/31/2018]	This Paymer	nt:		\$0.00	
		(Current Yea	r Principal:		\$0.00	
		(Current Yea	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$500.00	
Richard Dougherty	APARTMENT OWNERSHIP NO 37 THE	Mill and Overlay - Res	idential	32.63	18.75	\$611.81	02-28-23-43-0088
Patricia Dougherty	VICTORIA CONDOMINIUM UNIT NO	5			=	\$611.81	02 20 20 40 0000
134 Victoria St S Unit 4s St Paul MN 55105-3172	4-S	*** Owner and Taxpay	/er ***			ψ011.01	
*134 VICTORIA ST S 4S]	Fotal Assess	sment:		\$611.81	
*Ward: 2]	This Paymer	nt:		\$0.00	
*Pending as of: 12/31/2018		(Current Yea	r Principal:		\$0.00	
		(Current Yea	r Interest:		\$0.00	
		I	Payoff Amo	ount:		\$611.81	

9:12:11 2/6/2019	Public Improvement Assessment Roll b R	•	Resolution		10000		Pa
<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Katharine S Patterson	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Re	sidential	32.63	55.00	\$1,794.65	02-28-23-43-0117
170 Victoria St S St Paul MN 55105-3216 * 170 VICTORIA ST S	PAUL IN RAMSEY COUNTY, MINNESOTA WITH SEWER ESMT BEG AT SW COR OF LOT 13 TH E 35 FT TH N 40 FT TH NWLY TO PT 20 FT E AND 55	*** Owner and Taxpa	yer ***			\$1,794.65	
*Ward: 2	FT N FROM BEG TH W 20 FT TO W L		Total Asse	ssment:		\$1,794.65	
*Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$1,794.65	
Chris Carlson	NOBLE'S REARRANGEMENT OF LOTS	Mill and Overlay - Re	sidential	32.63	45.00	\$1,468.35	02-28-23-43-0144
210 Victoria St S	12, 13, & 14 BLOCK 13, SUMMIT PARK				=	\$1,468.35	02-20-23-43-0144
St Paul MN 55105-3218	ADDITION TO THE CITY OF ST. PAUL LOT 5	*** Owner and Taxpa	ver ***			\$1,408.55	
*210 VICTORIA ST S			.)				
*Ward: 2			Total Asse	ssment:		\$1,468.35	
*Pending as of: 12/31/2018			This Paym	ent:		\$0.00	
			Current Ye	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$1,468.35	
John Wengler	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - Co	mmercia	32.63	79.00	\$2,577.77	02-28-23-42-0124
William Wengler	PAUL IN RAMSEY COUNTY,				=	\$2,577.77	02-20-25-42-0124
972 Lincoln Ave St Paul MN 55105-3148	MINNESOTA S 80 FT OF LOTS 13 AND LOT 14 BLK 18	*** Owner and Taxpa	yer ***			Ψ2,277.77	
*26 VICTORIA ST S			Total Asse	ssment:		\$2,577.77	
*Ward: 2			This Paym	ent:		\$0.00	
*Pending as of: 12/31/2018			-	ar Principal:		\$0.00	
			Current Ye	ar Interest:		\$0.00	
			Payoff An	ount:		\$2,577.77	

Public Improvement Assessment Roll by Address (Fee to Asmt) Project: MO1807 Assmt: 185505 Manager: LM

Ratification Date: Resolution #:

<u>Owner or Taxpayer</u>	Property Description	Item Description		<u>Unit Rate</u>	<u>Quantity</u>	<u>Charge Amts</u>	<u>Property ID</u>
c West Mall Llc	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - O	Commercia	32.63	149.00	\$4,861.87	02-28-23-31-0015
VO Tax Admin 75 East Broad columbus OH 43215-3703	PAUL IN RAMSEY COUNTY, MINNESOTA ALL OF LOTS 26, 27, & LOT 28 BLK 22	*** Owner and Taxpayer ***				\$4,861.87	
41 VICTORIA ST S Ward: 2 Pending as of: 12/31/2018			Total Assessment: This Payment: Current Year Principal: Current Year Interest: Payoff Amount:			\$4,861.87 \$0.00 \$0.00 \$0.00 \$4,861.87	
athleen E Hull	SUMMIT PARK ADDITION TO ST.	Mill and Overlay - F	Residential	32.63	47.00	\$1,533.61	02-28-23-31-0037
Kathryn M Hansen 75 Victoria St S St Paul MN 55105-3160	PAUL IN RAMSEY COUNTY, MINNESOTA N 50 FT OF S 108 FT OF LOTS 27 AND LOT 28 BLK 23	*** Owner and Tax	ayer ***		=	\$1,533.61	02 20 20 01 0007
75 VICTORIA ST S			Total Assessment: This Payment: Current Year Principal: Current Year Interest:			\$1,533.61	
*Ward: 2 *Pending as of: 12/31/2018						\$0.00	
					\$0.00 \$0.00		
				Payoff Amount:		\$1,533.61	
eanne M Gieser	SUMMIT PARK ADDITION TO ST. PAUL IN RAMSEY COUNTY,	Mill and Overlay - F	Residential	32.63	58.00	\$1,892.54	02-28-23-31-0036
aul T Gieser 1 Victoria St S t Paul MN 55105-3160	MINNESOTA S 58 FT OF LOTS 27 AND LOT 28 BLK 23	*** Owner and Tax	oayer ***			\$1,892.54	
81 VICTORIA ST S			Total Asses	ssment:		\$1,892.54	
Ward: 2			This Payme			\$0.00	
*Pending as of: 12/31/2018			Current Ye Current Ye	ar Principal:		\$0.00 \$0.00	
			Payoff Am	ount:		\$1,892.54	

36 Parcel(s)
0 Cert. Exempt Parcel(s)

Total Assessment:	\$102,566.71		
This Payment:	\$0.00		
Current Year Principal	\$0.00		
Current Year Interest:	\$0.00		
Payoff Amount:	\$102,566.71		